
	
	Please use this column to show working out
	ANSWER

	Question 1

Calculate the following:

6.2 – 1.7

	
	4.5

	Question 2

Calculate the following:

34 multiplied by 25

	
	850

	Question 3

Calculate the following:

6084 divided by 4

	
	1521

	Question 4

Calculate the following:

3.19 + 0.7 + 6

	
	9.89

	Question 5

Write in order of size, starting with the smallest:
8.5
8.05
8.57
8.92

	
	8.05
8.5

8.57

8.92

	Question 6

If bananas cost £1 for 4, how many can you buy for £3.50?

	
	14

	Jim’s fluid balance chart for 24 hours shows:
INTAKE                                       OUTPUT
IV Fluids 1500 mL                     Urine  980mL                            
Oral Fluids  250 mL                                           Drain  45mL
Calculate the total

Question 7 - Intake

Question 8 - Output

	
	Q7 Answer
1750mL
Q8 Answer

1025mL


	Question 9
Convert the following percentage into a decimal:
75%

	
	0.75

	Question 10
Convert the following percentage into a decimal:
15%


	
	0.15

	Question 11
What is 2/5 of 800?

	
	320

	Question 12
Calculate the total weight, in kg, of the following:
135g

0.05kg

½ kg
5g

	
	0.69
kilograms

	Question 13
Convert 250 microgram to milligrams


	
	0.25
milligrams

	Question 14
Convert 1.08 grams to milligrams

	
	1080
milligrams


	Question 15
Convert 50 mL to litres

	
	0.05
litres

	Question 16
Convert 2.1 litres to mL

	
	2100
micrograms

	Question 17
Convert 0.19 kg to grams


	
	190 grams

	Question 18
Convert 8 milligrams to grams


	
	0.008 grams

	Question 19
A patient has a daily fluid allowance of 1500 mL.
He has taken 300 mL.

What percentage is this?

	
	20%

	Question 20
A patient requires Risperidone 500 micrograms

The stock dose is 4mg / mL. 

What volume is required?

	
	0.125
millilitres

	Question 21
A patient has been prescribed 20 mg Ketamine 

The stock available is 50mg / 5mL. 

What volume of Ketamine is required?   
                                                         
	
	2 millilitres

	Question 22
Heparin is available as 2000 units/4mL.

What volume is needed to give 12000 units?

	
	24 millilitres

	Question 23
A 73kg adult requires 

Enoxaparin 3mg / kg for treatment of a DVT. 

What dose is required?    

	
	219 milligrams

	Question 24
A patient has been prescribed 
Prednisolone 15 mg

The stock available is 5 mg

How many tablets will you administer?

	
	3 tablets

	Question 25
Digoxin 20 mg is prescribed

The stock available is 10 mg

How many tablets will you administer?

	
	2 tablets

	Question 26
A patient is prescribed 50 mg of  Pethidine

The stock dose is 20mg / 2mL
What volume will you require?     

                                                    
	
	5

millilitres

	Question 27
A patient is prescribed 75 mg of Tramadol Hydrochloride injection

The stock dose is 50mg / 4 mL 

What volume will you require?

	
	6

millilitres

	Question 28
Which is the largest fraction?
4/5
2/3
½
¾


	
	4/5

	Question 29
Calculate the following:
12 x 9

	
	108

	Question 30
Please calculate the mL per hour that should be administered.
720 mL Parenteral Nutrition over 24 hours 

	
	30 mL/hr
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